b 22 & W) B o 0
B W&

SE-=E A

. 58
AEZRHEHBRSEHE HESFEZTHEEEZEGSH
fa b2y EE L (FEHE L) AVEESN MR SR PO

MR REER -

N

I IR R mEEE

Vi B 0 ARG B BV R (R AR L > B e A IR RE - e A T AF
(ECA

— TSR Z B
—  EBEPEREAY M
— R E &R Z I A BE Y Y R R

A& N Mo rREEEREREE 2T =ZF+2
HEy RS B MGG R - IR SR R A B S R m IR AR - R— 2
T =3 BIBUR 75 /K PRI ~ & 51 R R e $E 18 8 1% < (] e g )k TR0 Ay B A
G -

III. BEERGERE

;5 /K

e B o0 R B AR e AT E AR NS K HE & AN R &Y NETHE
GHDRIE IR - mE PO BEYEE RS R T R & A Rt
WEORISKHVE & > FTARERYIIEBRZE Tk - 5 %3R5 K1
R AEMEAENE > EgI g ES  WAIKTEHYERFR -

W 55 19 75 7K 02 o7 L FEBCEY 5 — AL A0 5t & 48 il 5% i B o3 A o BEEELE
& RO PR A & 5 A PR -



fE 5] R

BEAFEWERER 2 HNEELENEFHUER ik
AL eEE > W aREREE -

B AL K o] B E 2 WO O Y B A T ROA I RO R 22
ROTARYIR B EE B4 - IAh o EAEIE B B BV B X ) &
FoMEREEN AR JELRBERER BB FFEHH
FitsmAEY 2% LE -

& IR E 1% 2 [ G BE Y

RETOMA LR Fe 86 & EEE LE2RERYE
6 E £/ RS - IR ER 25 G R Y& 8 il AR A sl K — i &R
TR ER > T XTEEHEBFREER -



B 52 g ) o B P 0

KPR BB RS (ZE—-=F1+2H)

28 P2 i PR & &R 18 FERE
(/%)

W g & 6-10 7.2-9.4 8.8 =
F4EE (mg) 100 <20-78 34.1 pss
B4 E (ng/) 10 <2-35 2.3 =
WY& E (ng/) 2000 760 - 1500 1121 =
WAL 48 & (me/) 10 <0.5 <0.5 =
FALEEE (mg/l) 0.1 <0.04 - 0.052 0.042 =
BOTEIRE A E (mg/) 100 <15-69 36.5 =
A HE  (mg/l) 20 <10-17 11.3 s
MeaeE (mg/) 0.5 <0.3 <0.3 =
BER R E  (me/) 1 <0.6 <0.6 =
FHEMEE] (mg/) 15 <7 <7 =
EEFEE (mg)) 2000 320 - 540 417 =
Ak E (mg/) 200 31-120 60.9 =
M (0) 43 17-24 20.2 yiss
DR /K= e | BEMIEDLT [BEEAE DL =
EEeE

- (mg/) 2 <0.4 <0.4 =
$H (mg/l) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
¥ (mg/D) 1 <0.3-04 0.3 =
#1  (mg/D) 2 0.58 - 1.40 1.04 =
#5 (mg/l) 2 <1 <l yass
B (mg/l) 5 <0.2-0.7 0.3 =
7K (mg/l) 0.05 <0.05 <0.05 s
8 (mg/) 2 <1 <1 =
R (mg/) 2 <0.4 <0.4 =
# (mg/l) 5 <1 <1 T
P (mg/) 2 <1 <1 =
HHE2BYEEHS (ng) 10 7.1-83 7.6 =




28 22 I IR &R 35 8 TFERE
(/&)
B (mg/l) 5 1.1 - 3.0 1.6 v
#  (mg/) 10 <2 < yass
2 8E
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AL LT (mgl) 0.01 <0.01 <0.01 v
FEZELEEY
K (mg/) 0.1 <0.06 <0.06 yes
HEHEMEey :
1,1,1-= & Z FE (mg/) 0.05 <0.025 <0.025 =
ZEBEE
% &5 K 48 & (mg/) 0.003 <0.003 <0.003 s
A EE -
B BB & (pc/l) 10000 <10000 <10000 v
#%-226 (pc/l) 30 <30 <30 s
§8-90 (pe/D) 100 <100 <100 =
# FECBEEETE M 5 R 8% 8 8- 800k - 87 R -
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B 52 g ) o B P 0
RS ZRBRE (ZE—-=F1+2"H)

28 125 ) BR R &t = W 1 8 FERE
B/R)

() =+4oeEvsE @
iR (mg/m’) 30 0.0 - 1.0 0.1 vy
— &AL (mg/m’) 200 0.0 - 1288 4.9 vy
BEilE (mg/m’) 60 0.2 - 15.1 2.8 vy
#FALE (mg/m’) 4 0.0 - 0.1 0.0 =
A8 1LY
(Bl = & 1k & = &) 400 44.8 — 201.2 115.6 yos
(mg/m’)
A R (mg/m’) 20 00 - 54 0.1 pes
— & /B % (mg/m”) 100 0.1 - 80.0 5.9 pes
(z) HigE @
ok (mg/m?) 10 0.0 - 0.1 0.1 pes
— &1 bR (mg/m’) 50 1.1 - 13.8 5.0 pes
EElE (mg/m’) 10 1.5 - 44 2.8 =
#IEE (mg/m’) 1 0.00 - 0.01 0.00 =
ALY
(ML - S (L& 5 200 91.0 - 143.7 115.1 s
(mg/m’)
YA ER (mg/m’) 10 0.01 - 0.25 0.12 =
— E B % (mg/m’) 50 2.1 - 93 6.0 =
(H) Hftr
AR EEY
(L@ R & &2 H) 24 <N 3.7 yia
(mg/m’)
AR ARALEY
(L@ btdaasE:5) 18.8 <13 <13 =
(mg/m’)
e (Ll W e &) —
(ma/m’) 37.5 2.2 2.2 =
Bhsa e (DB ED) (me/m) 55 <0.19 <0.19 pics
R RCRAEE (mg/md) 5 <1.7 <1.7 =




2 # P22 ) R & &R S FEfRE
/&)
EaeBE—8"Y
# 6B CE )M
AELE RN 0.05 <0.009 <0.009 2
= (mg/m’)
EEeBE_E Y
W (mg/m’) 0.06 <0.002 <0.002 yiea
EE‘.G:, /:-/T-:%%\ E‘ ‘%
REZEG =B 0.5 <0.062 <0.062 =
= (mg/m’)
& (mg/m’) 0.05 <0.002 <0.002 yiea
T (ng/m)) 0.075 0.008 0.008 =
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MRBERZERBYERBRSE (ZE—=8+2"H)

EX 725 i R R 4t R 15 85 FERE
ZE/T)
B—H o
8 (i 1K
% Wi 1 (/K) (E;!EE LTy 124 2
)
EEE S (%) |0 (I;E{E‘WE 60 - 89 733 2
5)
EHELE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 =
A E (ppm) 10 <0.5 <0.5 =
#i  (ppm) <05-2.9 0.8
##  (ppm) <0.5 <0.5
#f (ppm) <1.0-8.2 2.2
¥ (ppm) <05-1.5 0.6
9~ 45 B~ BEEY B
WE (ppm) 25 <2.5-99 4.1 E
# (ppm) 20 <1 <1 Lk
ALY (ppm) 10 <5 <5 pies
A FE (ppm) 10 <2.0-6.0 2.4 =
ALY (ppm) 5 <5 <5 pies
B EH S
A 2 W L
& e 5000 <15 <15 =
= (ppm)
B KR EEE _
(ppm) 10 <5 <5 =
FAL Ky 42 2 _
(ppm) 2 <2 <2 =
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF %) =
(ppb) 1 <1 <1 =




